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5 85 3| =TdS,,, =dU — pdV ~TdS —TdS,,, =dU + pdV —TdS
6 134 17 | Bankel engine Wankel engine
7 146 15 | % 11. iR 11.
(b) 0.27kgls (b) 0.21kgls
(c) 0.48 (c) 1.93
8 151 27 | ARSI A ELTY, =R, T/p &L, HARAEZEELTW =RT/p& L,
9 153 K 3 1) 8 3 1) 8
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10 157 7| h"=2562kJ/Kg, h" = 2561kJ/kg,
11 157 11| h, = x4h"—(1—x4)h’ h, = x4h”+(1—x4)h’
=0.773x 2562 + (1— O.773)><138 =0.773x 2561+ (1— 0.773) =138
= 2012kJ/kg = 2011kJ/kg
12 157 22 | |,, =h,—h, =3375-2012 =1363kJ/Kg l,, =h, —h, =3375-2011=1364kJ/kg
13 157 25 - _ _ _
_ h, —h, _ 3375-2012 0421 _ h, —h, _ 3375-2011 0421
h,—h  3375-138 h,—h  3375-138
14 168 5| RESIZOCHEFIIE THD DT REE3 T4 O CHOEFIETHDH DT
15 177 | 7% | (2)0.278 (b)404 kd/kg (c)2.89 (2)0.28 (b)404 kd/kg (c)3.3
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16 187 | BIH | Bankel engine /3» %L 134 (HIFR)
17 191 | WIH Wankel engine N> /7L v 134
(#EN)
18 196 | /T | N VY Bankel engine NN T Wankel engine
19 | #3 R 5% | 1o BATHE 710 BN R
L 2-1 | Pa(N-m ™ 2) N
20 #3 | &R | BOBMBRE (IW O & X PS) ) OFA R (IW 0 & X PS)
2-1 | 1.359622 %X 103 1.359622 X 103
21 # 3| & | BEFOBREE o OfE BREPOFEWFE o OE
22 4x X 107 47 X 107
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